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[ of associated (recoTosim) tracks vs dxy(PV) |

N of associated (recoToSim) looper tracks vs dxy(PV)

1%} F 9] F %] [%]
X E : : X E X F k>4 -
s of : : s of s | g
S10°F il i £10°F £ ok £
E . . ) E ) Q
i : : 2 I = f g
10* 3 10 E - s 5
F F 0F 3
10°F 10°F s
E E 10%E~
10°F 10°F F
i i 10F-
10¢
1L 1
<P 9 1.1- 9 N N
& 1.05] EE
E- : :
I HI L o L L 0.051 L L L
=20 -15-10 -5 0 5 10 15 20 =20 -15-10 -5 0 10 15 20 =20 -15-10 -5 0 5 10 15 20
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
y(PV)
R 2 2
[} [} Q
g g g
o © 10° ©
2 2
2 K] 8
=
=}
L=
10?
o o o
3 s 3
14 4 14
jl = r |
E 0 o .8 0.2 0.4 0.6 0.8 —C8 06—04 02 0 02 04 06 0.8
track dxy(PV) (cm) track dxy(P\O (cm) track dxy(PV) (cm) track dxy(PV) (cm)
m N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper tracks vs dz(PV) |
9] 2] [%]
2 2 g
g ., 8 8
= [ 8 §
10°F s
E T
10°F-
10
1 -
o 2
T T
14 o
B | 0 {1ttt LA 41 1AL S B | | M (a0 oot | T S T | 11111 e LT L R,
0.9 L r L = 0.95" i i L 3 - 0. i i L = :
%30 -20 -10 0 10 20 30 =30 -20 -10 0 10 20 30 =30 -20 -10 0 40 30 10 20 30

track dz(PV) (cm)

N of reco track vs dz(PV)

-1 —0. 0 0.5 1
track dz(PV) (cm)

track dz(PV) (cm)

N of associated (recoToSim) tracks vs dz(PV) |

true tracks

-1 —0 5 0
track dz(PV) (cm)

track dz(PV) (cm)

fake tracks

i

A
° A A |=|
-1 5

track dz(PV) (cm)

track dz(PV) (cm)

N of associated (recoToSim) looper tracks vs dz(PV) |

duplicate tracks

Ratio

08— =05 0 05 1
track dz(PV) (cm)




	Contents
	Page 1


